

# ABOUT FIBONACCI - LUCAS - KANTOROVICH - SURÁNYI - COLLABORATION INEQUALITIES

D. M. BĂTINEȚU - GIURGIU, MIHÁLIY BENCZE, DANIEL SITARU, NECULAI STANCIU  
- ROMANIA

ABSTRACT. In this paper we present some certain results on Fibonacci - Lucas inequalities using Kantorovich and Surányi inequalities.

**Theorem 1.** Let  $(F_n)_{n \geq 0}$  and  $(L_n)_{n \geq 0}$  be the Fibonacci and the Lucas sequence, respectively. Then:

$$F_n^m F_{n+1}^m \sum_{k=1}^n \frac{L_k^{m+1}}{F_k^{2m}} \geq n^{m+1} \left( \prod_{k=1}^n L_k \right)^{\frac{m+1}{n}}, \forall n \in \mathbb{N}, \forall m \in \mathbb{R}_+$$

*Proof. 1.* We use AM-GM inequality:

$$\begin{aligned} \sum_{k=1}^n \frac{L_k^{m+1}}{F_k^{2m}} &\stackrel{\text{AM-GM}}{\geq} n \cdot \sqrt[n]{\prod_{k=1}^n \frac{L_k^{m+1}}{F_k^{2m}}} = \frac{n \cdot \sqrt[n]{\prod_{k=1}^n L_k^{m+1}}}{\left( \sqrt[n]{\prod_{k=1}^n F_k^2} \right)^m} \stackrel{\text{AM-GM}}{\geq} \frac{n \cdot \left( \prod_{k=1}^n L_k \right)^{\frac{m+1}{n}}}{\left( \frac{\sum_{k=1}^n F_k^2}{n} \right)^m} = \\ &= \frac{n^{m+1} \cdot \left( \prod_{k=1}^n L_k \right)^{\frac{m+1}{n}}}{\left( \sum_{k=1}^n F_k^2 \right)^m} = \frac{n^{m+1} \left( \prod_{k=1}^n L_k \right)^{\frac{m+1}{n}}}{F_n^m F_{n+1}^m} \end{aligned}$$

which is equivalent with the given inequality, and we are done.

$$\text{Above we used the well-known } \sum_{k=1}^n F_k^2 = F_n F_{n+1}.$$

□

*Proof 2.* We use the inequality of J. Radon and AM-GM inequality.

$$\begin{aligned} \sum_{k=1}^n \frac{L_k^{m+1}}{F_k^{2m}} &= \sum_{k=1}^n \frac{L_k^{m+1}}{(F_k^2)^m} \stackrel{\text{Radon}}{\geq} \frac{\left( \sum_{k=1}^n L_k \right)^{m+1}}{\left( \sum_{k=1}^n F_k^2 \right)^m} = \frac{1}{F_n^m F_{n+1}^m} \left( \sum_{k=1}^n L_k \right)^{m+1} \stackrel{\text{AM-GM}}{\geq} \\ &\stackrel{\text{AM-GM}}{\geq} \frac{1}{F_n^m F_{n+1}^m} \left( n \cdot \sqrt[n]{\prod_{k=1}^n L_k} \right)^{m+1} = \frac{n^{m+1}}{F_n^m F_{n+1}^m} \left( \prod_{k=1}^n L_k \right)^{\frac{m+1}{n}} \end{aligned}$$

$$\text{We used the well-known } \sum_{k=1}^n F_k^2 = F_n F_{n+1}.$$

□

**Theorem 2.** If  $a, b, c > 0$ , then:

$$2 \left( \left( \frac{a}{F_n b + F_{n+1} c} \right)^3 + \left( \frac{b}{F_n c + F_{n+1} a} \right)^3 + \left( \frac{c}{F_n a + F_{n+1} b} \right)^3 \right) +$$

$$+3 \cdot \frac{abc}{(F_n a + F_{n+1} b)(F_n b + F_{n+1} c)(F_n c + F_{n+1} a)} \geq \frac{9}{F_{n+2}^3} \text{ for any positive integer } n.$$

*Proof.* By János Surányi's inequality we have that if  $x_k > 0 (k = 1, 2, \dots, n)$  then the following inequality holds:

$$(S) \quad (n-1) \sum_{k=1}^n x_k^n + n \prod_{k=1}^n x_k \geq \left( \sum_{k=1}^n x_k \right) \left( \sum_{k=1}^n x_k^{n-1} \right)$$

The equality holds if and only if  $x_k = x (k = 1, 2, \dots, n)$ .

If  $n = 3$ , then (S) becomes:

$$(1) \quad 2 \sum_{k=1}^3 x_k + 3x_1 x_2 x_3 \geq (x_1 + x_2 + x_3)(x_1^2 + x_2^2 + x_3^2) \stackrel{\text{Bergström}}{\geq} \frac{1}{3} (x_1 + x_2 + x_3)^3$$

If in (1) we take  $x_1 = \frac{a}{F_n b + F_{n+1} c}, x_2 = \frac{b}{F_n c + F_{n+1} a}, x_3 = \frac{c}{F_n a + F_{n+1} b}$ , then we obtain

$$(2) \quad A = 2 \sum_{cyc} \left( \frac{a}{F_n b + F_{n+1} c} \right)^3 + \frac{3abc}{\prod_{cyc} (aF_n + bF_{n+1})} \geq \frac{1}{3} \left( \sum_{cyc} \frac{a}{F_n b + F_{n+1} c} \right)^3$$

$$\text{But, } B = \sum_{cyc} \frac{a}{F_n b + F_{n+1} c} = \sum_{cyc} \frac{a^2}{F_n ab + F_{n+1} ac} \stackrel{\text{Bergström}}{\geq} \frac{(a+b+c)^2}{\sum_{cyc} (F_n ab + F_{n+1} ac)} =$$

$$(3) \quad = \frac{(a+b+c)^2}{(F_n + F_{n+1})(ab+bc+ca)} = \frac{(a+b+c)^2}{F_{n+2}(ab+bc+ca)} \geq \frac{3(ab+bc+ca)}{F_{n+2}(ab+bc+ca)} = \frac{3}{F_{n+2}}$$

From (2) and (3) we obtain that:  $A \geq \frac{1}{3} \cdot \frac{27}{F_{n+2}^3} = \frac{9}{F_{n+2}^3}$ .

The equality holds if and only if  $a = b = c$ .  $\square$

**Theorem 3.** If  $a, b, c > 0$ , then prove that:

$$2 \left( \left( \frac{a}{L_n b + L_{n+1} c} \right)^3 + \left( \frac{b}{L_n c + L_{n+1} a} \right)^3 + \left( \frac{c}{L_n a + L_{n+1} b} \right)^3 \right) +$$

$$+3 \cdot \frac{abc}{(L_n a + L_{n+1} b)(L_n b + L_{n+1} c)(L_n c + L_{n+1} a)} \geq \frac{9}{L_{n+2}^3}, \text{ for any positive integer } n.$$

*Proof.* By János Surányi's inequality we have that if  $x_k > 0 (k = 1, 2, \dots, n)$  then the following inequality holds:

$$(S) \quad (n-1) \sum_{k=1}^n x_k^n + n \prod_{k=1}^n x_k \geq \left( \sum_{k=1}^n x_k \right) \left( \sum_{k=1}^n x_k^{n-1} \right)$$

The equality holds if and only if  $x_k = x (k = 1, 2, \dots, n)$ .

If  $n = 3$ , then (S) becomes:

$$(1) \quad 2 \sum_{k=1}^3 x_k + 3x_1 x_2 x_3 \geq (x_1 + x_2 + x_3)(x_1^2 + x_2^2 + x_3^2) \stackrel{\text{Bergström}}{\geq} \frac{1}{3} (x_1 + x_2 + x_3)^3$$

If in (1) we take  $x_1 = \frac{a}{L_n b + L_{n+1} c}, x_2 = \frac{b}{L_n c + L_{n+1} a}, x_3 = \frac{c}{L_n a + L_{n+1} b}$ , then we obtain:  $\square$

$$(2) \quad A = 2 \sum_{cyc} \left( \frac{a}{L_n b + L_{n+1} c} \right)^3 + \frac{3abc}{\prod_{cyc} (aL_n + bL_{n+1})} \geq \frac{1}{3} \left( \sum_{cyc} \frac{a}{L_n b + L_{n+1} c} \right)^3$$

$$\text{But, } B = \sum_{cyc} \frac{a}{L_n b + L_{n+1} c} = \sum_{cyc} \frac{a^2}{L_n a b + L_{n+1} a c} \stackrel{\text{Bergström}}{\geq} \frac{(a+b+c)^2}{\sum_{cyc} (L_n a b + L_{n+1} a c)} =$$

$$(3) \quad = \frac{(a+b+c)^2}{(L_n + L_{n+1})(ab+bc+ca)} = \frac{(a+b+c)^2}{L_{n+2}(ab+bc+ca)} \geq \frac{3(ab+bc+ca)}{L_{n+2}(ab+bc+ca)} = \frac{3}{L_{n+2}}$$

From (2) and (3) we obtain that  $A \geq \frac{1}{3} \cdot \frac{27}{L_{n+2}^3} = \frac{9}{L_{n+2}^3}$

The equality holds if and only if  $a = b = c$ .

**Theorem 4.** If  $a, b, c > 0$ , then:

$$2 \left( \left( \frac{a}{F_n^2 b + F_{n+1}^2 c} \right)^3 + \left( \frac{b}{F_n^2 c + F_{n+1}^2 a} \right)^3 + \left( \frac{c}{F_n^2 a + F_{n+1}^2 b} \right)^3 \right) + 3 \cdot \frac{abc}{(F_n^2 a + F_{n+1}^2 b)(F_n^2 b + F_{n+1}^2 c)(F_n^2 c + F_{n+1}^2 a)} > \frac{9}{F_{2n+1}^3}, \text{ for any positive integer } n.$$

*Proof.* By János Surányi's inequality we have that if  $x_k > 0 (k = 1, 2, \dots, n)$  then the following inequality holds:

$$(S) \quad (n-1) \sum_{k=1}^n x_k^n + n \prod_{k=1}^n x_k \geq \left( \sum_{k=1}^n x_k \right) \left( \sum_{k=1}^n x_k^{n-1} \right)$$

The equality holds if and only if  $x_k = x (k = 1, 2, \dots, n)$ .

If  $n = 3$ , then (S) becomes:

$$(1) \quad 2 \sum_{k=1}^3 x_k + 3x_1 x_2 x_3 \geq (x_1 + x_2 + x_3)(x_1^2 + x_2^2 + x_3^2) \stackrel{\text{Bergström}}{\geq} \frac{1}{3} (x_1 + x_2 + x_3)^3$$

If in (1) we take  $x_1 = \frac{a}{F_n^2 b + F_{n+1}^2 c}, x_2 = \frac{b}{F_n^2 c + F_{n+1}^2 a}, x_3 = \frac{c}{F_n^2 a + F_{n+1}^2 b}$ , then we obtain:

$$(2) \quad A = 2 \sum_{cyc} \left( \frac{a}{F_n^2 b + F_{n+1}^2 c} \right)^3 + \frac{3abc}{\prod_{cyc} (aF_n^2 + bF_{n+1}^2)} \geq \frac{1}{3} \left( \sum_{cyc} \frac{a}{F_n^2 b + F_{n+1}^2 c} \right)^3$$

$$\text{But, } B = \sum_{cyc} \frac{a}{F_n^2 b + F_{n+1}^2 c} = \sum_{cyc} \frac{a^2}{F_n^2 a b + F_{n+1}^2 a c} \stackrel{\text{Bergström}}{\geq} \frac{(a+b+c)^2}{\sum_{cyc} (F_n^2 a b + F_{n+1}^2 a c)} =$$

$$(3) \quad = \frac{(a+b+c)^2}{(F_n^2 + F_{n+1}^2)(ab+bc+ca)} = \frac{(a+b+c)^2}{F_{2n+1}(ab+bc+ca)} \geq \frac{3(ab+bc+ca)}{F_{2n+1}(ab+bc+ca)} = \frac{3}{F_{2n+1}}$$

From (2) and (3) we obtain that:

$$A \geq \frac{1}{3} \cdot \frac{27}{F_{2n+1}^3} = \frac{9}{F_{2n+1}^3}$$

□

The inequality is strictly because  $F_n^2 \neq F_{n+1}^2$ .

**Theorem 5.** If  $e_n = (1 + \frac{1}{n})^n$ , then:

$$\left( \sum_{k=1}^n e_k F_k^2 \right) \left( \sum_{k=1}^n \frac{F_k^2}{e_k} \right) \leq \frac{(e+2)^2}{8e} F_n^2 F_{n+1}^2$$

for any positive integer  $n$ .

*Proof.* From Kantorovich's inequality we have:

If  $0 < m \leq x_k \leq M, y_k > 0, (k = 1, 2, \dots, n)$  then:

$$(K) \quad \left( \sum_{k=1}^n x_k y_k \right) \left( \sum_{k=1}^n \frac{y_k}{x_k} \right) \leq \frac{(M+m)^2}{4Mm} \left( \sum_{k=1}^n y_k \right)^2 \text{ for, any positive integer } n$$

Since,  $e_1 = 2$  and  $\lim_{n \rightarrow \infty} e_n = e$  we have that: if  $x_k = e_k$ , then  $x_k \in [2, e]$ , for any positive integer  $k$ . So, in this case we have  $m = 2, M = e$ . If we take  $y_k = F_k^2$ , then by (K) we obtain that:

$$(1) \quad \left( \sum_{k=1}^n e_k F_k^2 \right) \left( \sum_{k=1}^n \frac{F_k^2}{e_k} \right) \leq \frac{(e+2)^2}{8e} \left( \sum_{k=1}^n F_k^2 \right)^2$$

If we are taking into account that  $\sum_{k=1}^n F_k^2 = F_n F_{n+1}$ , then by (1) we obtain the desired inequality.  $\square$

**Theorem 6.**

$$\text{If } e_n = (1 + \frac{1}{n})^n \text{ then } \left( \sum_{k=1}^n e_k F_{2k-1} \right) \left( \sum_{k=1}^n \frac{F_{2k-1}}{e_k} \right) \leq \frac{(e+2)^2}{8e} F_{2n}^2$$

for any positive integer  $n$ .

*Proof.* From Kantorovich's inequality we have:

If  $0 < m \leq x_k \leq M, y_k > 0, (k = 1, 2, \dots, n)$ , then:

$$(K) \quad \left( \sum_{k=1}^n x_k y_k \right) \left( \sum_{k=1}^n \frac{y_k}{x_k} \right) \leq \frac{(M+n)^2}{4Mm} \left( \sum_{k=1}^n y_k \right)^2 \text{ for any positive integer } n.$$

Since,  $e_1 = 2$  and  $\lim_{n \rightarrow \infty} e_n = e$  we have that: if  $x_k = e_k$ , then  $x_k \in [2, e]$ , for any positive integer  $k$ . So, in this case we have:  $m = 2, M = e$ . If we take  $y_k = F_{2k-1}$ , then by (K) we obtain that:

$$(1) \quad \left( \sum_{k=1}^n e_k F_{2k-1} \right) \left( \sum_{k=1}^n \frac{F_{2k-1}}{e_k} \right) \leq \frac{(e+2)^2}{8e} \left( \sum_{k=1}^n F_{2k-1} \right)^2$$

If we take into account that  $\sum_{k=1}^n F_{2k-1} = F_{2n}$ , then by (1) we obtain the desired inequality.  $\square$

**Theorem 7.**

$$\text{If } x_n = \sum_{k=1}^n \frac{1}{k^2} \text{ then } \left( \sum_{k=1}^n x_k F_k^2 \right) \left( \sum_{k=1}^n \frac{F_k^2}{x_k} \right) \leq \frac{(\pi^2 + 6)^2}{24\pi^2} \cdot F_n^2 F_{n+1}^2$$

for any positive integer  $n$ .

*Proof.* From Kantorovich's inequality we have:

If  $0 < m \leq x_k \leq M, y_k > 0, (k = 1, 2, \dots, n)$  then:

$$(K) \quad \left( \sum_{k=1}^n x_k y_k \right) \left( \sum_{k=1}^n \frac{y_k}{x_k} \right) \leq \frac{(M+m)^2}{4Mm} \left( \sum_{k=1}^n y_k \right)^2 \text{ for any positive integer } n.$$

Since,  $x_1 = 1$  and  $x_n = \frac{\pi^2}{6}$  we have that: if  $x_k = \sum_{i=1}^k \frac{1}{i^2}$ , then  $x_k \in [1, \frac{\pi^2}{6}]$ , for any positive integer  $k$ . So, in this case we have  $m = 1, M = \frac{\pi^2}{6}$ . If we take  $y_k = F_k^2$ , then by (K) we obtain that:

$$(1) \quad \left( \sum_{k=1}^n x_k F_k^2 \right) \left( \sum_{k=1}^n \frac{F_k^2}{x_k} \right) \leq \frac{(\pi^2 + 6)^2}{24\pi^2} \left( \sum_{k=1}^n F_k^2 \right)^2$$

If we are taking into account that  $\sum_{k=1}^n F_k^2 = F_n F_{n+1}$  then by (1) we obtain the desired inequality.  $\square$

**Theorem 8.** If  $x_n = \sum_{k=1}^n \frac{1}{k^2}$ , then:

$$\left( \sum_{k=1}^n x_k F_{2k-1} \right) \left( \sum_{k=1}^n \frac{F_{2k-1}}{x_k} \right) \leq \frac{(\pi^2 + 6)^2}{24\pi^2} F_{2n}^2$$

for any positive integer  $n$ .

*Proof.* From Kantorovich's inequality we have:

If  $0 < m \leq x_k \leq M, y_k > 0, (k = 1, 2, \dots, n)$ , then:

$$(K) \quad \left( \sum_{k=1}^n x_k y_k \right) \left( \sum_{k=1}^n \frac{y_k}{x_k} \right) \leq \frac{(M+m)^2}{4Mm} \left( \sum_{k=1}^n y_k \right)^2, \text{ for any positive integer } n$$

Since,  $x_1 = 1$  and  $x_n = \frac{\pi^2}{6}$  we have that: if  $x_k = \sum_{i=1}^k \frac{1}{i^2}$ , then  $x_k \in [1, \frac{\pi^2}{6}]$ , for any positive integer  $k$ . So, in this case we have  $m = 1, M = \frac{\pi^2}{6}$ . If we make  $y_k = F_{2k-1}$ , then (K) we obtain that:

$$(1) \quad \left( \sum_{k=1}^n x_k F_{2k-1} \right) \left( \sum_{k=1}^n \frac{F_{2k-1}}{x_k} \right) \leq \frac{(\pi^2 + 6)^2}{24\pi^2} \left( \sum_{k=1}^n F_{2k-1} \right)^2$$

If we take into account that  $\sum_{k=1}^n F_{2k-1} = F_{2n}$ , then by (1) we obtain the desired inequality.  $\square$

**Theorem 9.** If  $x_n = \sum_{k=1}^n \frac{1}{(2k-1)^2}$ , then:

$$\left( \sum_{k=1}^n x_k F_k^2 \right) \left( \sum_{k=1}^n \frac{F_k^2}{x_k} \right) \leq \frac{(\pi^2 + 8)^2}{32\pi^2} F_n^2 F_{n+1}^2$$

for any positive integer  $n$ .

*Proof.* From Kantorovich's inequality we have:

If  $0 < m \leq x_k \leq M, y_k > 0, (k = 1, 2, \dots, n)$ , then:

$$(K) \quad \left( \sum_{k=1}^n x_k y_k \right) \left( \sum_{k=1}^n \frac{y_k}{x_k} \right) \leq \frac{(M+m)^2}{4Mm} \left( \sum_{k=1}^n y_k \right)^2, \text{ for any positive integer } n$$

Since  $x_1 = 1$  and  $\lim_{n \rightarrow \infty} = \frac{\pi^2}{8}$  we have that: if  $x_k = \sum_{i=1}^k \frac{1}{(2i-i)^2}$ , then  $x_k \in [1, \frac{\pi^2}{8}]$ , for any positive integer  $k$ . So, in this case we have  $m = 1, M = \frac{\pi^2}{8}$ . If we take  $y_k = F_k^2$ , then by (K) we obtain that:

$$(1) \quad \left( \sum_{k=1}^n x_k F_k^2 \right) \left( \sum_{k=1}^n \frac{F_k^2}{x_k} \right) \leq \frac{(\pi^2 + 8)^2}{32\pi^2} \left( \sum_{k=1}^n F_k^2 \right)^2$$

If we take into account that  $\sum_{k=1}^n F_k^2 = F_n F_{n+1}$ , then by (1) we obtain the desired inequality.  $\square$

**Theorem 10.**

$$n^{n-2}(n-1) \sum_{k=1}^n F_k^n + n^{n-1} \prod_{k=1}^n F_k > (F_{n+2} - 1)^n, \text{ for any positive integer } n \geq 2.$$

*Proof.* From János Surányi's inequality we have that if  $x_k > 0 (k = 1, 2, \dots, n)$  then the following inequality holds:

$$(S) \quad (n-1) \sum_{k=1}^n x_k^n + n \prod_{k=1}^n x_k \geq \left( \sum_{k=1}^n x_k \right) \left( \sum_{k=1}^n x_k^{n-1} \right)$$

The equality holds if and only if  $x_k = x (k = 1, 2, \dots, n)$ .

If we take in (1)  $x_k = F_k (k = 1, 2, \dots, n)$  we obtain that:

$$(1) \quad (n-1) \sum_{k=1}^n F_k^n + n \prod_{k=1}^n F_k \geq \left( \sum_{k=1}^n F_k \right) \left( \sum_{k=1}^n F_k^{n-1} \right)$$

From J. Radon's inequality we have that:

$$(2) \quad \sum_{k=1}^n F_k^{n-1} \geq \frac{\left( \sum_{k=1}^n F_k \right)^{n-1}}{\underbrace{(1+1+\dots+1)}_n^{n-2}} = \frac{1}{n^{n+2}} \left( \sum_{k=1}^n F_k \right)^{n-1}$$

From (1) and (2) we deduce that:

$$(3) \quad (n-1) \sum_{k=1}^n F_k^n + n \prod_{k=1}^n F_k \geq \frac{1}{n^{n-2}} \left( \sum_{k=1}^n F_k \right)^n \Leftrightarrow n^{n-2}(n-1) \sum_{k=1}^n F_k^n + n^{n-1} \prod_{k=1}^n F_k > \left( \sum_{k=1}^n F_k \right)^n$$

If we take into account  $\sum_{k=1}^n F_k = F_{n+2} - 1$  then (3) becomes:

$$n^{n-2}(n-1) \sum_{k=1}^n F_k^n + n^{n-1} \prod_{k=1}^n F_k > (F_{n+2} - 1)^n$$

The inequality is strictly since  $F_k \neq F_{k+1}$ , for any  $k \geq 2$ .  $\square$

**Theorem 11.**

$$n^{n-2}(n-1) \sum_{k=1}^n L_k^n + n^{n-1} \prod_{k=1}^n L_k > (L_{n+2} - 3)^n, \text{ for any positive integer } n \geq 2.$$

*Proof.* From János Surányi's inequality we have:

If  $x_k > 0 (k = 1, 2, \dots, n)$  then the following inequality holds:

$$(S) \quad (n-1) \sum_{k=1}^n x_k^n + n \prod_{k=1}^n x_k \geq \left( \sum_{k=1}^n x_k \right) \left( \sum_{k=1}^n x_k^{n-1} \right)$$

The equality holds if and only if  $x_k = x (k = 1, 2, \dots, n)$

If we take in (S)  $x_k = L_k (k = 1, 2, \dots, n)$  we obtain that:

$$(1) \quad (n-1) \sum_{k=1}^n L_k^n + n \prod_{k=1}^n L_k \geq \left( \sum_{k=1}^n L_k \right) \left( \sum_{k=1}^n L_k^{n-1} \right)$$

From J. Radon's inequality we have that:

$$(2) \quad \sum_{k=1}^n L_k^{n-1} \geq \frac{\left( \sum_{k=1}^n L_k \right)^{n-1}}{\underbrace{(1+1+\dots+1)}_n} = \frac{1}{n^{n-2}} \left( \sum_{k=1}^n L_k \right)^{n-1}$$

From (1) and (2) we deduce that:

$$(3) \quad (n-1) \sum_{k=1}^n L_k^n + n \prod_{k=1}^n L_k \geq \frac{1}{n^{n-2}} \left( \sum_{k=1}^n L_k \right)^n \Leftrightarrow n^{n-2}(n-1) \sum_{k=1}^n L_k^n + n^{n-1} \prod_{k=1}^n L_k > \left( \sum_{k=1}^n L_k \right)^n$$

If we take into account that  $\sum_{k=1}^n L_k = L_{n+2} - 3$  then by (3) yields the desired inequality. The inequality is strictly since  $L_k \neq L_{k+1}$ , for any  $k \in \mathbb{N}$   $\square$

**Theorem 12.**

$$n^{n-2}(n-1) \sum_{k=1}^n F_k^{2n} + n^{n-1} \prod_{k=1}^n F_k^2 > F_n^n F_{n+1}^n, \text{ for any positive integer } n \geq 2.$$

*Proof.* From János Surányi's inequality we have that:

If  $x_k > 0, (k = 1, 2, \dots, n)$  then the following inequality holds:

$$(S) \quad (n-1) \sum_{k=1}^n x_k^n + n \prod_{k=1}^n x_k \geq \left( \sum_{k=1}^n x_k \right) \left( \sum_{k=1}^n x_k^{n-1} \right)$$

The equality holds if and only if  $x_k = x, (k = 1, 2, \dots, n)$ . If we take in (S)  $x_k = F_k^2 (k = 1, 2, \dots, n)$  we obtain that:

$$(1) \quad (n-1) \sum_{k=1}^n F_k^{2n} + n \prod_{k=1}^n F_k^2 \geq \left( \sum_{k=1}^n F_k^2 \right) \left( \sum_{k=1}^n F_k^{2(n-1)} \right)$$

From J. Radon's inequality we have that:

$$(2) \quad \sum_{k=1}^n (F_k^2)^{n-1} \geq \frac{\left( \sum_{k=1}^n F_k^2 \right)^{n-1}}{\underbrace{(1+1+\dots+1)}_n} = \frac{1}{n^{n-2}} \left( \sum_{k=1}^n F_k^2 \right)^{n-1}$$

From (1) and (2) we deduce that:

$$(3) \quad (n-1) \sum_{k=1}^n F_k^{2n} + n \prod_{k=1}^n F_k^2 \geq \frac{1}{n^{n-2}} \left( \sum_{k=1}^n F_k^2 \right)^n \Leftrightarrow n^{n-2}(n-1) \sum_{k=1}^n F_k^{2n} + n^{n-1} \prod_{k=1}^n F_k^2 > \left( \sum_{k=1}^n F_k^2 \right)^n$$

If we take into account that  $\sum_{k=1}^n F_k^2 = F_n F_{n+1}$ , then (3) becomes:

$$n^{n-2}(n-1) \sum_{k=1}^n F_k^{2n} + n^{n-1} \prod_{k=1}^n F_k^2 > F_n^n F_{n+1}^n$$

The inequality is strictly since  $F_k \neq F_{k+1}$ , for any  $k \geq 2$ .  $\square$

**Theorem 13.**

$$n^{n-2}(n-1) \sum_{k=1}^n \left( \binom{n}{k} F_k \right)^n + n^{n-1} \prod_{k=1}^n \binom{n}{k} F_k > F_{2n}^n, \text{ for any positive integer } n \geq 2.$$

*Proof.* From János Surányi's inequality we have that:

If  $x_k > 0$ ; ( $k = 1, 2, \dots, n$ ) then the following inequality holds:

$$(S) \quad (n-1) \sum_{k=1}^n x_k^n + n \prod_{k=1}^n x_k \geq \left( \sum_{k=1}^n x_k \right) \left( \sum_{k=1}^n x_k^{n-1} \right)$$

The equality holds if and only if  $x_k = x$ ; ( $k = 1, 2, \dots, n$ ). If we take in (S)  $x_k = \binom{n}{k} F_k$  ( $k = 1, 2, \dots, n$ ) we obtain that:

$$(1) \quad (n-1) \sum_{k=1}^n \left( \binom{n}{k} F_k \right)^n + n \prod_{k=1}^n \binom{n}{k} F_k \geq \left( \sum_{k=1}^n \binom{n}{k} F_k \right) \left( \sum_{k=1}^n \binom{n}{k} F_k \right)^{n-1}$$

From J. Radon's inequality we have that:

$$(2) \quad \left( \sum_{k=1}^n \binom{n}{k} F_k \right)^{n-1} \geq \frac{\left( \sum_{k=1}^n \binom{n}{k} F_k \right)^{n-1}}{\underbrace{(1+1+\dots+1)}_n^{n-2}} = \frac{1}{n^{n-2}} \left( \sum_{k=1}^n \binom{n}{k} F_k \right)^{n-1}$$

From (1) and (2) we deduce that:

$$(3) \quad n^{n-2}(n-1) \sum_{k=1}^n \left( \binom{n}{k} F_k \right)^n + n^{n-1} \prod_{k=1}^n \binom{n}{k} F_k > \left( \sum_{k=1}^n \binom{n}{k} F_k \right)^n$$

If we take into account that  $\sum_{k=1}^n \binom{n}{k} F_k = F_{2n}$  then from (3) we obtain the desired inequality. The inequality is strictly since  $F_k \neq F_{k+1}$ , for any  $k \geq 2$ .  $\square$

**Theorem 14.**

$$n(n+1)^{n+1} \sum_{k=0}^n \left( \binom{n}{k} L_k \right)^{n+1} + (n+1)^n \prod_{k=0}^n \binom{n}{k} L_k > L_{2n}^{n+1}$$

for any positive integer  $n$ .

*Proof.* From János Surányi's inequality we have that:

If  $x_k > 0$  ( $k = 1, 2, \dots, n$ ) then the following inequality holds:

$$(S) \quad (n-1) \sum_{k=1}^n x_k^n + n \prod_{k=1}^n x_k \geq \left( \sum_{k=1}^n x_k \right) \left( \sum_{k=1}^n x_k^{n-1} \right)$$



If instead of  $n$  we take  $n + 1$  the inequality (S) becomes:

$$(S') \quad n \sum_{k=1}^{n+1} x_k^{n+1} + (n+1) \prod_{k=1}^{n+1} x_k \geq \left( \sum_{k=1}^n x_k \right) \left( \sum_{k=1}^{n+1} x_k^n \right)$$

The equality holds if and only if  $x_k = x$  ( $k = 1, 2, \dots, n + 1$ ). If we take in (S')  $x_k = \binom{n}{k-1} L_{k-1}$  ( $k = 1, 2, \dots, n + 1$ ) we obtain that:

$$(1) \quad n \sum_{k=0}^n \left( \binom{n}{k} L_k \right)^{n+1} + (n+1) \prod_{k=0}^n \binom{n}{k} L_k \geq \left( \sum_{k=0}^n \binom{n}{k} L_k \right) \left( \sum_{k=0}^n \binom{n}{k} L_k \right)^n$$

From J. Radon's inequality we have that:

$$(2) \quad \sum_{k=0}^n \left( \binom{n}{k} L_k \right)^n \geq \frac{\left( \sum_{k=0}^n \binom{n}{k} L_k \right)^n}{\underbrace{(1+1+\dots+1)}_{n+1}^{n-1}} = \frac{1}{(n+1)^{n-1}} \left( \sum_{k=0}^n \binom{n}{k} L_k \right)^n$$

From (1) and (2) we deduce that:

$$(3) \quad (n+1)^{n-1} n \left( \sum_{k=0}^n \binom{n}{k} L_k \right)^{n+1} + (n+1)^n \prod_{k=0}^n \binom{n}{k} L_k > \left( \sum_{k=0}^n \binom{n}{k} L_k \right)^{n+1}$$

If we take into account that  $\sum_{k=0}^n \binom{n}{k} L_k = L_{2n}$ , then from (2) we obtain the desired inequality. The inequality is strictly since  $L_k \neq L_{k+1}$ , for any  $k \in \mathbb{N}$ .  $\square$

#### REFERENCES

- [1] *Octogon Mathematical Magazine*, 2015-2019
- [2] Romanian Mathematical Magazine - Interactive Journal, [www.ssmrmh.ro](http://www.ssmrmh.ro)
- [3] Mihály Bencze, Daniel Sitaru, Marian Ursărescu, *Olympic Mathematical Energy*. Studis Publishing House, Iași, 2018.
- [4] Daniel Sitaru, George Apostolopoulos, *The Olympic Mathematical Marathon*. Cartea Romanească Publishing House, Pitești, 2018.
- [5] Mihály Bencze, Daniel Sitaru, *Quantum Mathematical Power*. Studis Publishing House, Iași, 2018.
- [6] Daniel Sitaru, Marian Ursărescu, *Calculus Marathon*. Studis Publishing House, Iași, 2018.
- [7] Daniel Sitaru, Mihály Bencze, *699 Olympic Mathematical Challenges*. Studis Publishing House, Iași, 2017.
- [8] Daniel Sitaru, Marian Ursărescu, *Ice Math-Contests Problems*. Studis Publishing House, Iași, 2019.

MATHEMATICS DEPARTMENT, NATIONAL ECONOMIC COLLEGE "THEODOR COSTESCU", DROBETA TURNU - SEVERIN, ROMANIA

Email address: [dansitaru63@yahoo.com](mailto:dansitaru63@yahoo.com)